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v) Test of Langu;:go : English
e qteror ; Sidft

[81 — 83] : Select the word which is most| 86. Penchant
opposite in meaning to the given word. (A) Stylish
i, Jony (B) Weakness
(A) Please
(B) Praise (C) Temptation
(C) Soothe (D) Tendency
(D) Mock
82. Fickle [87 — 88] : Choose the correct meaning of the
(A) Stable given idiom/phrase.
(B) Slow ‘
(C) Mercurial : 87. Give a cold shoulder
(D) Strong (A) Create trouble
83. Succumb (B) Take no notice
(A) Strengthen (C) Make enemy
(B) Defreeze (D) Insult
(C) Heal ,
(©) Resist 88. Kick the bucket
[84 — 86 : Select the word which is nearest in (A) Be seriously injured
meaning to the given word. (B) Attack
84. Vilify (C) Fall very il
(A) Insult (D) Die
(B) Defame '
(C) Demote [89 — 91] : Fill in the blanks with appropriaté
choice. '
(D) Punish
g5. Meddle 89. Side the weak, not the strong
' (A) In-between ' (A) with
. (B) Impose 3 (By for Ty
. (C) Interfere _ (C) with i
£ (D) Cross T s i (D) noneofthe above = . .
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90. Study hard or
you will not
éxamination. ———the [ [95 - 97] : Select the incorrectly spelt word. E
95. (A) Circutous

(A) getover p
: B) lllegitimate
(B) getthrough (C) Palliation
(C) get away (D) Manageable
(D) geton 96. (A) Controversial
. B) Mathamatics
1. Them i (
9 eeting was presided by €) llegible
the Chairman. (D) Exonerate
(A) on 97. (A) Concession
(B) in (B) Impediment
£) over (C) Handkerch.ef
(D) Exaggeration
(D) wupon

; . 98 — 100] : A part of a sentence is underfined.
92-94]: A senten i [

[92-94] ) ence has been spilt Into three From the options, choose the one, which, when
parts out of which one part may contain error(s). | substituted for the underiined part, willimprove

Ifthere is an error, select that option. If there is | the sentence. If no improvement is possible,

No error, select (D). select (D).
98. | shall not be at home until 9 P.M.
92. (A) Bacteriais involved () inhome
_{B) in causing numerous (B) home
(C) human diseases (C) on home
_ (D) noimprovement
(DF-Tyoeirer ' 99. In quick time he took charge of the
situation.
93. (A) A delegation from Japan (A) time
AB) have been expected (B) enough time
: : 3 . (C) notime
Orrow
(C) - to visit Delhi tom ©) noimprovement
' {D)- bl 100. The boss asked me to fill him on the
e events that took place yesterday.
%, (A) Itisunfortunate that _A)  Fill him up
~ (B) many yolng persons are (B) Fill him in
o ' C) Fill
- ' ' to dru ( _
| :g)} riemng addlcted' 0 ; (D) nolmprovement
~No error R
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SECTION-B
Post Specific Subject-Related Questions
101. Electr ing i .
(A) h? 'Y(;Zamong sk 106. A region around the magnet in wi;
a magnetic influence can be expefience
(B) urea is called
(C) glucose (A) flux
(D) benzene (B) line of force
102, According to Ohm's law R is equal to (C) Stl'eng"'.l |
(A) V,/R (D) magnetic field -
(B) IR
(C) vi 107. In a series circuit, remains
(D) v same.
(A) current -
108. Sin480° =27 (B) voltage
(A) 0 (C) resistance
(B) 05 (D) none of the above
(C) 0.86
(D) 1 108. The rotating part of dc machine is called
104. Selection of 11 cricket players out of 17 (A). field
players can be done in ways. (B) armature”
(A) Cq (C) frame
(B) '7Pg (D) yoke
© Py
(D) None of the above 109. The internal force developed in a body,
_ in order to regain its
105. The resistance is proportional original size and shape after application
to length and ___ proportional to of deforming force is
v2ry o.f crc;ss-direc:: : (A) restoring force
) ;l;rec i eNErly (B) elastic force *
irectly, i : _
(Bl : : (C) stress
(C) inversly, directly
(D) strain

(D) none of these
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111,

112

113.

"' 110, Acylindrical bar of length 0.2 m deforms

;ePresented in magnitude and direction
© =7 py the third side of the triangle, taken in

5 (B) polygon law of forces
e ~(C) rectangle law of forces
o (D) _quadrahgle law of forces : -

to 2 mm. What will be the strain
developed in the bar ?

(A) 1

(B) 0.1

(C) o0.01

(D) 0.001

Within elastic limit, the ratio of
longitudinal stress to longitudinal strain
is called as of elasticity.

(A) Bulk's modulus
(B) Young's modulus
(C) Modulus of rigidity
(D) None of these

Unit of viscocity is

(A) Coulomb
(B) Newton second per square meter

(C) Wattper meter per degree celcius
(D) Joule per kilogram per Kelvin

if two forces

According to
acting simultaneously on @ particle, be

represented in magnitude and
direction by the two sides of a triangle,
taken in order ; their resultant may be

opposite order.
(A) triangle law forces

117.

115.

116.

a4 RV ECHJEEWM

| 114. The ce '
ntre of gravity of an equilateral

triangle with each side (a) is
from any of the three sides.

(A) a+v3/2
(B) av2/3
(C) a/2y3
(D) a/3y2

The force of friction between two bodies

in contact

(A) Depends upon the area of their
contact

(B) Depends upon the relative velocity
between them

(C) Is always normal to the surface of

their contact
(D) All of the above

If a ladder is not in equilibrium against
a smooth vertical wall, then it can be

made in equilibrium by
(A) increasing the angle of inclination

(B) decreasing the angle of inclination
(C) increasing the length of the ladder
(D) decreasing the length of the ladder

can copy a printed page
the computer's
g the

A____
of text or a graphic into

memory, freeing us from creatin
data from scratch.

(A) printer |

(B) plotter

(C) painter

(D) scanner '
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118. The software used for tasks such as | 123. When a line is contained by a plane, its
managing disks and trouble shooting projection on that plane is

hardware problems is | (A) a point
:;)) g;g,?cat;on softward (B) equal to its true length
(C) Operating system (C) less than its true length

(D) more than its true length

(D) None of the above
When the projectors are perpendicular

119. The common keyboard arrangement s | 124. .
called ________ layout. to the plane on which the projection is
(A) QWERTY obtained is known as
(8) QERWTY projection.
(C) QREWTY (A) pictorial (B) isometric
(D) QWTERY (C) orthographic (D) oblique

125. A point ‘P’ is above Horizontal Plane

120. Which of the following operating system
(HP) and in front of Vertical Plane (VP).

do you choose to implement a client

i The point is in
o (A) Firstquadrant
:g) x:‘::: 3: (B) Second quadrant
(D) Windows 2000 (C) Third quadrant

(D) Fourth quadrant

121. Rusting of iron occurs due to
; 126. HTML is used to create

(A) reduction
(B) hydrogenation (A) machine language program
(C) oxidation (B) high level program

_.( ) i 'matloln. (C) web page
(D) web server

. awayfromut_.:_-__-_._; b .| 127. Acomputer oninternet are identified by
s I | (A emailaddress
N ~(B) streetaddress
.. © IPaddress
-:..'(ID.)_-'_‘.nqne dfthese" i ot
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1?8 Which protocol deals with emails 7 133. The leakage curr
(A) FTP than
_(B) SMTP —
(C)  LPD (A) 1/1
1
(D) X window ) :
(8) 1/100
129. Which'key can bg used to vigw slide (C) 1/500
show in power point presentation ?
(A) F1 (D) 1/5000
(B) F3
(C) F5 134. connects web pages.
(D) F7 (A) Link
130. Which Section in the IE Act deals with (B) Hyperlink
the ‘theft of energy’ ? (C) Connector
(A) Section 45 (D) None of the above
(B) Section 43 ‘
(€) Section 40 135. URL stands for
tion 39
(D) Section (A) Uniform Resource Locator
131, Which type of cable is used for (B) Unique Remote Locator
s underground service connections ? :
- ’ g (C) Uniform Remote Locator
(A) Low tension 4 % core cable .
(B) Low tension 3 ¥ core cable (D) Unique Resource Locator ,
" (C) Low tension 2 % core cable
.(D) Lowtensionz % core cable 136. A voltmeters are used for the
measurement of
What type of earthing is used by | ,
, ansmission lines ? (A) current
i‘_‘(A) Plate earthing (B) voltage
(B). Rod ear!hiﬂa © '
; wer
.-(c) strip earlhlﬂg ; powel
(D) energy

(D) Both (A) &(C )
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137 ln a pure capacitive circuit, the current

¢ -(A_) lags behind the voltage by
~ g0degree

" (B) leads the voltage by 90 degree
(C)

- ©

remains in phase with voltage

none of the above

The fuse is always connected in
of the circuit,

(A)
(B)
(©)
(D)

138.

_series.
parallel
neutral

none of these

139. For a 50 Hz transformer, the primary
turns are 100 and maximum flux in core
is 0.08 Wb then the primary induced emf
is

(A) 1856 V

(B) 1276 V

(C) 176V -

(D)/ 1776 V

i

T Ll

b "

140 Cos(A+B) 7
(A) SlnACosB+CosASInB
(B) S‘mACosB GosASInB

'''''

141.

142.

143.

(D)

Iftan A=
tan(A + B) is
(A) O

(B 1

©) Infinty .
(D) None of the above

Centre of the circle
x2+y2-6x+4y+2=0is
(A) (-6,4)

(B) (6,-4)

€ (8-2

(D) (3,-2)

: 6 4 24
Il‘)(-l-.Y-l:2 1]@X_Y_[B 3].

value of X is

[ 2 0
_—3 "'1 8\

> 4]
8 3]

(A)

(B)

6 4
© |2 4]
e
5.2
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- 'shape of a liquid drop is determined by

145.

- {A)

“((D)

146!

LoB) Vvt conéiant =p

147.
" left to right, feﬂctlvlty ot metals with

@
(©)
©

§

. x .
3 - et
) R e T
i e iy

When there are no external forces, the

(A) Surface tension of the liquid
(B) Density of liquid
(C) Viscosity of liquid
(D) Temperature of air only

Pascal’s law states that pressure at a |
point is equal in all directions

Ina quuld at rest
(B)
(C)

In a laminar flow
In a turbulent flow

In a fluid at rest 150.

Mathematical expression that describes »
Boyle's law is

(A) PV=constant

(C) P*constant=v
#(D) V7P =constant

As we move across periodic table from |
151,

oxygen ' :
(A) decr'easési}

increases

'remalns_same

zero

148,

149,

ACV-" 1nEcHJEEMﬂ‘1 101-

In magnetic separation, magnem ﬂ,
used to separate

(A) mineral and gangde
(8) metal and mineral
(C) metal and gangue
(D) iron and steel

The isometric axis are inclined at
degree to each other.

60
90
120
150

(A)
(B)
(€)
(D)

‘Representative Fraction' (RF) is
defined as

(A) Lengthof an object in the drawing/ !
- Actual length of the object

Length of an object in the drawing/
Isometric length of the object

Actual length of the object/ Length
of an object in the drawing

Isometric length of the object/
Length of an object in the drawing

(B)
(©)

(D)

The pair of lines 4x2 + pxy + 9y% =0 are
parallel to each other, Positive value of

pis |

(A) 4

(B) 9~
(C)i:12 5ix

O o e
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162. It y = Cos(2x+3), its first order

differentiation with respect to x is
(A) 2sin(2x+3)
(B) -2sin(2x+3)
(C) 2c0s(2x+3)
(D) -2cos(2x+3)

CAD/CAM is the relationship between
(A) sclence and engineering

(8) manufacturing and marketing

(C} design and manufacturing

(D) design and marketing

153.

The rated voltage of alternators used in
power station is usually

(A) 440 kV
(B) 220 kV
(C) 110kV
@ 11kV

154,

In a three phase system, the emf’s are
(A) 30 degree apart
(B) 60 degree apart

158.

ia‘&f‘*m&cammmmmaw

from the

(A) Buming

(B) Electrical | ‘me

(C) Low voﬂage :
(D) Over current

157. The fuse material must Favs iow

158.

158.

160.

(A} conductivity
(B) permittivity

(C) melting point
(D) none of these

The square root of the vararceisc
the deviaticn.

(A) Empirical

(B) Mean

(C) Continuous

(D) Standard

2 -1
f A= [0 Jcharaciﬁnstrcrwsai

are

(A) 1,1
(B) 0,1
(C) 0,-1
0) 1,2

mmm&aﬁm{qwmf
D‘Jﬂefsmmegmysls

(A} 4 |

B) 8

€ 18

_'(D_} 15

Scanned by CamScanner



-g-ﬂ" o .-.u i}
3 - I

161,

(D)

162.

163.

164.

Accordlng to Lami's theorem if three
coplanar forces acting at a point be in
equilibrium, then each force is

proportional to the ______ of the angle
between the other two.

(A)
(B)
©

sine
cosine
tan
sec

If efficiency of a lifting machine is kept
constant, its velocity ratio is directly

proportional to its
(A) effort applied
(B) mechanical advantage

(C) machine friction
(D) all of the above

The side view of an object is drawn in
(A) Vertical plane #

(B) Horizontal plane

(c) Profile plane

(D) None of the above

The top view of 2 right cylinder resting

on HP on its base rim is
(A) Ellipse

(B] ‘Rectangle

165.

166.

167.

168.

7 radians =
(A) 360°
(B) 270°
(C) 180°
(D) 90°

Refractive in
(A)
(B)

speed of light ii :
speed of light in the air
speed of lightin air to speedoflight

(©)

(D)
in vacuum

No medium is required for the transfer ,

of heat by the process of

absorption
conduction

radiation

(A)
(B)
(©)
(D)

convection

Most modem wiring system for domeste
and commercial installation is

cleat wiring

wooden batten wi;ing

wooden casing wiring

conduit wiring

(A)
(B)
()
(D)
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169,

170.

171.

N2

and

-smallest side of the triangle PQR is

O spoed

Vector product of two vectors is also
known as

(A)
(B)
(€)
(D)

‘Scalar product :
Dot product
Paint product
Cross product

_In triangle PQR length of the side QR is
less than twice the length of the side PQ
by 2 cm. Length of the side PR exceeds
the length of the side PQ by 10 cm. The
perimeter is 40 cm. The length of the

(A)
(B)
(®)
(D)

6cms
8cms
7cms
10cms

If the resultant of two forces P and Q
acting at an angle (o) with P, then

(A) tano=Psing/(P+Qcos6)
(B) tano.=Pcos6/(P+Qcos6)
(C) tano=Qsing/(P+Qcos6)
(D) tano=Qcos8/(P+QcosH)

The Newton's Second Law of Motion
gives a relation between force, mass

velocity
_ accgleration

173.

174,

175.

176.

177.

ACV- .
OV ek eemT10:

(1,01)5=
(A) 1,001
(B) 1.051
(C) 1.51
(D) 15.1

Polar form of a complex number is
(A) r(tan@+icot8)

(B)
(C)
(D)

r(secO +icoseco)
r(cos0 +ising)

r(sin@ + icos 8)

In a right angle triangle ABC right angled
at B, AB = 10 cms, A = 22°, values of

AC and BC are
(A) 3.75,9.27
(B) 4.23,8.45
(C) 1.87,6.52
(D) 9.68,4.15

Blister copper is
(A) Pure copper
(B) Ore of copper
(C) Alloy of copper
(D) Impure copper

_____ polymers soften when heated
and can be reshaped when hot.

thermosoftening
thermosetting
both the above
none '

(A)
(B)
(©)
(D)
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178. Which tree gives out the latex to obtain | 182. A source of sound frequency 60 Haj
natural ribber ? placed inside water. The 8p6od of g,
(A) eucalyptus in water is 1500 m/s and in alr ltig 30
brassiliens m/s. The frequency of sound i8 raCordgyq
(B) hevea brassiliensis by an observer, who I8 standing iy alr
(C) anogeissus is
(D) astragalus (A) 200 Hz
179. Nt derivative of €2 is (B) 3000 Hz
(A) e (C) 120 Hz
(B) na* (D) 600 Hz
(C) e™
(D) aNe®* 183. A sonometer wire vibrates with a
' frequency n. It is replaced by another
180. The linear velocity of a rotating body Is wire of three times the diameter, If
given by the relation where tension and other parameters remain
r = Radius of the circular path, and the same, the frequency of vibration of
® = Angular velocity of the body in the wire will be
radian/s.
(A) 9n
(A) v=r.0
(B) 3n
(B) v=rw & o
3
(C) v=aw/r ©
(D) 20/ () n/s
181, Motion of particles about their mean | 184 2 balls are drawn at random with
. Position in regular intervals of time is replacement from a box containing
" Calleq 10 black and 8 red balls. Find the
N probability that both balls are red.
NI (A) 8/81
o (B) 16/81
L e (C) . 20/81

Pls
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185. Wmmomdsmwasmm

186.

187.

(C) o7 |

pamﬁalmHPawwdp&rpadﬁm“a’mVP
then the sectional view of the object is
obtained in

(A) top view

{B) ftrontview

(C) left side view

{D) right side view

MS office 2000 included a full fledged
web designing software called

{A)- MS Word

(B) Front Page 2000

(C) Outiook express

(D) Front page express

Excel uniquely identifies cells within a
worksheet with a cell name by

(A) Cell names

(8) Column numbers and row letters
{C) Column letters and row numbers
(D) Cell locator coordinates

A motor of 1 mechanical horsepower
drives _____ watts.

(A) 746

(B) 467

189.

190.

191.

192,

Which lamp is used in the Outdogr
illumination of buildings and airpo

runway ?

(A) Gaseous discharge lamp
(B) Halogen lamp

(C) Sodium vapour lamp

(D) Allof these

In a 3 phase balanced star connected
load, neutral current is equal to

(A)
(B)
(C)
(D)

zero-
phase current
line current

unpredictable

According to Pauli's exclusion principle,
it is impossible for any two electrons in
a given atom to have all the __
quantum numbers identical.

(A) 1
(B) 2
€) 3
(D) 4

Total number of orbitals associated with
the principal quantum number
n=3is
(A) 9
(B) 8
.. (C) 7
()
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~ (A) Expulsion principle

194.

195.

196.

- .(A) mechanical energy to electrical | 200.

_According to

in the ground
state of the atoms, the orbitals are filled
in order of their increasing energies.

(B) Aufbau principle
(C) Duplet rule
(D) None of the above

An electrolytic cell uses electrical | 198.

energy to drive

(A) chemical reaction -
(B) physical reaction
(C) no reaction

(D) none of the above -

Lead and Zinc metals occur naturally as 199.

(A) oxides

(B) sulphite ores
(C) carbon ores

(D) chloride ores

Electrochemical cells convert %

energy

(B): potential energy to electrlcal
_,'__'energy '

(C) Kinetic energy 0 electnca\ enargy 9
- (D) chemlcal -energy to electrlcal

3 || ]
8

ACV-1 VTECHJEEM/TY oy

197. Condition for two lines to be parayig g

their slopes are

(A) Equal

(B) Perpendicular

(C) Opposite

(D) None of the above

23
Determinant of 5 1 is
(A) 13
(B) -13
(C) 38
(D) -38

Which one of the following is not an ore
of Aluminium ?

(A) Bauxite
(B) Corundum
(C) Epsomite

(D) Cryolite

Which solution is used o
hydrochlorination of natural rubber with
" HClgas?

(A) benzene

(B) toluene

- (C) carbon tetrachloride

energy L (D) acetone
_ i
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